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Multiplication Drills (10s) Name:
Solve each problem.
1x10=_ 5x10=_ 4x10=_ 6x10=_
9x10= 2x10=_ 3x10=_ 8x10=_
7x10=_ 10x 10 = 6x10= 10x 10 =
7x10=__ 1x10=__ 2x10=__ 3x10=__
gx10= 9x10=_ 4x10=_ 5x10=_
4x10=_ 3x10=_ 1x10=_ 6x10=_
8x10=_ 9x10=_ 2x10=__ /x10=__
5x10=_ 10x 10 = /x10=__ 3x10=_
4x10= gx10=_ 6x10=_ 1x10=
2x10=__ 10x 10 = 9x10=__ 5x10=
3x10= 1x10=_ 9x10= 2x10=_
/x10=_ 4x10=_ 5x10=_ 10x10=
6x10=_ 8x10=_ 10x 10 = 10x9=_
10x4=_ 10x3=_ 10x2=_ 10x8=_
10x7=_ 10x6=_ 10x5=_ 10x1=_
10x7=_ 10x2=_ 10x1=_ 10x4=_
10x9=_ 10x5=_ 10x 10 = 10x8=_
10x6=_ 10x3=_ 10x 10 = 10x2=_
10x1=_ 10x7=_ 10x9=_ 10x3=_
10x4=_ 10x6=__ 10x5=_ 10x8=_
10x6=__ 10x3=__ 10x9=_ 10x2=_
10x 10= 10x8=_ 10x5=_ 10x1=_
10x4=_ 10x7=_ 10x5= 10x2=_
10x4= 10x6= 10x7= 10x1=
10x8=_ 10x 10 = 10x 3= 10x9=
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Multiplication Drills (10s) Name. Answer Key

Solve each problem.

1x10= 10 5x10= 50 4x10= 40 6x10=_ 60
9x10= 90 2x10=_ 20 3x10= 30 8x10= 80
7x10=_ 70 10x10=_ 100 6x10=_ 60 10x10=_ 100
7x10=_ 70 1x10=_ 10 2x10=_ 20 3x10=_ 30
8x10= 80 9x10= 90 4x10=_ 40 5x10= 50
4x10=_ 40 3x10= 30 1x10=_ 10 6x10=_ 60
8x10= 80 9x10=_ 90 2x10=_ 20 7x10=_ 70
5x10= 50 10x10=_ 100 7x10=_ 70 3x10=_ 30
4x10=_ 40 8x10=_ 80 6x10=_ 60 1x10=_ 10
2x10=_ 20 10x10=_ 100 9x10=_ 90 5x10=_ 50
3x10=_ 30 1x10=_ 10 9x10=_ 90 2x10=_ 20
7x10= 70 4x10= 40 5x10= 50 10x10=_ 100
6x10=_ 60 8x10= 80 10x10=_ 100 10x9=_ 90
10x4=_ 40 10x3=_ 30 10x2=_ 20 10x8=_ 80
10x7=__70 10x6=__ 60 10x5=_ 50 10x1=_ 10
10x7=__70 10x2=_ 20 10x1=_ 10 10x4=_ 40
10x9=_ 90 10x5=_ 50 10x10=_ 100 10x8=_ 80
10x6=_ 60 10x3=_ 30 10x10=_ 100 10x2=_ 20
10x1=_ 10 10x7=__70 10x9=_ 90 10x3=_ 30
10x4=_ 40 10x6=__ 60 10x5=_ 50 10x8=__ 80
10x6=__ 60 10x3=_ 30 10x9=_ 90 10x2=_ 20
10x10=_ 100 10x8=__ 80 10x5=_ 50 10x1=_ 10
10x4= 40 10x7= 70 10x5=_ 50 10x2=_ 20
10x4=_ 40 10x6=_ 60 10x7=__70 10x1=_ 10
10x8=_ 80 10x10=_ 100 10x3=_ 30 10x9=_ 90

1-15199|98|97(96(95|194|93]|92|91|90(89|88 |87 |86 | 85

[ M ath ] www.CommonCoreSheets.com

16-30| 84

8382|8180

78| 77|76 |75[ 74| 73|72

71

70




	Worksheet
	Answer Key

